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1 IRA (B )
= 4 RIREE | RMTEE | DHTEE | B W B o=
FHEE(A) |HMFHEMB)| REZE(C) (A-C)
1= 6,100,000 5,180,000 5,348,878 751,122(20195E4& x 95% + R EIEA R VS BIZERIAH
2 BEgiES 400,000 400,000 400,000 0
3 tExRAEESE 400,000 0 0 400,000
4 BEiEEE 4,507,000 0 0 4,507,000 ;8 hI BB LB HHS
s m”ﬂgi%ﬁféwiiam TS 255 3,397,000 3,387,900 3,387,900 9,100
4 BOREERIS 1,650,000 1,100,000 1,100,000 550,000
5 EfER({LIRiLE 0 1,211,000 1,200,000/ A 1,200,000
6 fRHs 61,169 59,120 59,120 2,049
7 FEIRA 401,831 480 1,470,488 A 1,068,657
OHEMEERE 400,000 0 1,470471| A 1,070,471
BhR & 300,000 0 1,260,471| A 960471|H5EREE
RItZBOREEIFGE 0 0 100,000/ A 100,000
ZRGOMIKEGES 100,000 0 100,000 O|EHREBIHBRLTEHSHE
mEHL 0 0 10,000 A 10,000
QEEFFE 1,831 480 17 1814
& F 16,917,000 11,338,500 12,966,386 3,950,614
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X N SI2EE | SREE | SNTEE R B =
FHEIE(A) |LWTEHEB)| REZE(C) (A-C)
1 EEE 7,442,000 8,850,000 8,247,205 A 805,205
OREE 100,000 100,000 44,708 55,292
QFERE 350,000 350,000 229,587 120,413
Ok #kE 700,000 700,000 687,793 12,207
@fER# 600,000 600,000 559,874 40,126| BB ERHED
OEEKRFEHFEEEEKEE 4,507,000 0 o| 4,507,000
CE%EE 1,185,000 7,100,000 6,725,243 A 5,540,243
2 BXE 8,465,000 2,480,000 3,004,688 5,460,312
OKBOEEREZ I 450,000 500,000 582,739 A 132,739
@) =TT F e R—Y 250,000 250,000 231,886 18,114
QK WEE 30,000 30,000 0 30,000
@FEEDWY 200,000 100,000 547,199 A 347,199
OHhisiE % 220,000 300,000 189,987 30,013
OTIHERRE 1,400,000 1,300,000 1,452,877 A 52877 |WHRERELNI~EEOBCTELLRRBIWLH SV ILEET
QEENEBERE 5,915,000 0 o| 5915000
3 FlEE 1,010,000 8,500 3,324 1,006,676 | & BIEER A S S % BE
4 s 0 0 1,650,000] A 1,650,000 Z DI EREIS
& F 16,917,000 11,338,500 12905217 4,011,783
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Hakas (A | Higka(B) (A-B)
1 JA—SLEBRLEIE 11,169 1,211,155 | A 1,199,986
2 BEOREERLE 1,650,000 1,100,000 550,000
&&t 1,661,169 2,311,155 A 649,986




